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BRI 1
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HBEMEBET ]
=

BEMEIELT 1
=

SHE MR AsERZEhR 5.25 5.3 5
15cmEL T m

SHE MR V9 -MEEERR 5.25+1.4=6.65 6.7 7
15cmEL m

SRR AsEBEERE t=5cmLlA (4.2%5.25)-9.45=12.6 126 13
INRE m2

WY -MBEMEUEL BEEEY ANNET 1.1+0.8+0.04+0.02=1.96 2.0 2
m3

EinE T 1
=

FRIE Asik MR 12.6%0.05=0.63 0.6 0.6
m3

B WH-tR (B 2.0 2
R m3

A AsFR 0.6 0.6
m3

Hns WH-tR (B 2.0 2
m3

EELT 1
=

FRYEY (HEHI) TR INRAE 1.6+8.0+0.6+0.6+1.0+2.2+5.5+0.8=20.3 20.3 20
m3

HEREL AL MEE 4.1+0.2+0.4+15+2.1=8.3 8.3 8
m3

HrMET 1
=

TRYEERK TR INRAR 20.3-8.3=12 12.0 10
m3

KrENS L@kt 12.0 10
m3

PEEET 1
=

SATITHRE TR EW LD 1
=

EhApEEE H=14m 18-8-40BB (0.5+0.92)%1.4/2%1.63=1.62 16 2
m3

BeKEEM T 1 1
=

fIET 1
=

7VrANUEEIE B A -MAlE 318 PU3 10 1
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KEBEEMT 1
=®
WHY-MEEY 1
=®
ERARIVYY - 18-8-40BB 10 1
=®
AZR 18-8-40BB 10 1
=®
BER 18-8-40BB 10 1
=®
CHER 18-8-40BB 10 1
=®
DER 18-8-40BB 1.0 1
=
WET 1
=®
SEERT 1
=®
TREEEIE MEMAE.M-30, THt=Tcn |RESE 7.8 78 8 N
m2 (SEE)
TREEEIE HEME. M-30, FHt=3cm [HESE 15+1.2=2.7 2.7 3 N
m2 (SEE)
TRI7IMERET 1
=®
TEHRE (EE - BREE) RC-30(t=10cm) HESE 3.9+0.7+2.6=7.2 72 7 N
m2 (SEE)
L rERRER (BE - IRIEER) M-30(t=10cm) HESHR 3.9+0.7+2.2=6.8 6.8 7 B
m2 (SEE)
REEE- BB 1.4m3K & HESE 12.6+45=17.1 17.1 17
BEFHETAIV(13) t=5cm m2
CE !
=®
{RKEET 1
=®
Tn5% BIELE~ 1.9%0.6=1.14 1.1 1
-1 - m2
KB 1
=®
V7 &g EERHEK 3 3
B

RUTHERM - &
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JERR ) —h B A E
ITE4: TERAR SR ERE TS L0 A0
T ;) =X HAL # & =
e (2.4+2.2+0.2+0.3+1.18+0.5+0.2+2.2)%0.15= 1.38 m2 1.4
LEVZIR 6.3540.15=0.95 m3 1.0
18-8-40BB
AHEB BEFEE
1.0 XY/
T ;) =X HAL # & =
T 0.45+1.22+0.68=2.35 m2 2.4
Az ) —h 0.04+0.08+0.05=0.17 m3 0.2
18-8-40BB
EkAh 1.06+3.1=4.16m 4.16%0.995/1000= 0.004 t 0.004
D13
B BEFHEE
1.0 Y7
T ;) =X HAL # & =
T (0.2+0.3+0.3)%0.856=0.68 m2 0.7
Az p)—h 0.856%0.2%0.3=0.05 m3 0.1
18-8-40BB
EkAh 0.4%4=1.6m 1.6%0.995/1000=0.002 t 0.002
D13
CHp BEFHEE
1.0 Y720
T f® ;) =X HAL # & =
T 0.16+0.1=0.26 m2 0.3
Az p)—h 0.01+0.02=0.03 m3 0.1
18-8-40BB
EkAh 0.25%2=0.5m 0.5%0.995/1000=0.001 t 0.001
D13
DS BEiEE
1.0 #¥47-h
T f® ) =X LA/ =
Lty 1.27+1.2=2.44 m2 2.4
A ) —h 0.27+0.12=0.39 m3 0.4
18-8-40BB
7SI 0.415%7=2.91 2.91:0.995/1000= 0.003 t 0.003
D13




